

SUBJECT: MATHEMATICS

**PAPER: ADVANCED MATHEMATICAL
METHODS**

PAPER CODE:H 3051(PAPER III)

CLASS: MSc III SEMESTER

TAUGHT BY:DR SATISH KUMAR

**ASSOCIATE PROFESSOR
DN COLLEGE MEERUT**

(5) Find Fredholm determinant and Resolvent Kernel of $K(x, \xi) = \sin x - \sin \xi$, $a=0$, $b=2\pi$.

Solution. We know Fredholm determinant

$$D(\lambda) = 1 - \frac{\lambda}{1} c_1 + \frac{\lambda^2}{2} c_2 - \frac{\lambda^3}{3} c_3 + \dots \quad (1)$$

and Resolvent Kernel

$$R(x, \xi; \lambda) = \frac{D(x, \xi; \lambda)}{D(\lambda)} \quad (2)$$

$$\text{where } D(x, \xi; \lambda) = B_0(x, \xi) - \frac{\lambda}{1} B_1(x, \xi) + \frac{\lambda^2}{2} B_2(x, \xi) - \frac{\lambda^3}{3} B_3(x, \xi) + \dots \quad (3)$$

$$\text{Here } B_0(x, \xi) = K(x, \xi) = \sin x - \sin \xi \quad (\text{given}) \quad (4)$$

$$\text{Now, } B_1(x, \xi) = \int_0^{2\pi} K \begin{pmatrix} x & \xi_1 \\ \xi & \xi_1 \end{pmatrix} d\xi_1 = \int_0^{2\pi} \begin{vmatrix} K(x, \xi) & K(x, \xi_1) \\ K(\xi, \xi) & K(\xi, \xi_1) \end{vmatrix} d\xi_1 \quad (5)$$

$$\text{let } D_1 = \begin{vmatrix} K(x, \xi) & K(x, \xi_1) \\ K(\xi, \xi) & K(\xi, \xi_1) \end{vmatrix}$$

$$= \begin{vmatrix} \sin x - \sin \xi & \sin x - \sin \xi_1 \\ \sin \xi - \sin \xi & \sin \xi - \sin \xi_1 \end{vmatrix}$$

$$= \begin{vmatrix} \sin x - \sin \xi & \sin x - \sin \xi_1 \\ \sin \xi_1 - \sin \xi & 0 \end{vmatrix}$$

$$= -(\sin \xi_1 - \sin \xi)(\sin x - \sin \xi_1)$$

$$= -[\sin x \sin \xi_1 - \sin^2 \xi_1 - \sin x \sin \xi + \sin \xi \sin \xi_1]$$

$$\therefore B_1(x, \xi) = -\sin x \int_0^{2\pi} \sin \xi_1 d\xi_1 + \int_0^{2\pi} \sin^2 \xi_1 d\xi_1 + \sin x \sin \xi \int_0^{2\pi} d\xi_1 + \sin \xi \int_0^{2\pi} \sin \xi_1 d\xi_1$$

$$= 0 + \frac{1}{2} \int_0^{2\pi} (1 - \cos 2\xi_1) d\xi_1 + \sin x \sin \xi \cdot 2\pi + 0$$

$$B_1(x, \xi) = \pi + 2\pi \sin x \sin \xi = \pi [1 + 2 \sin x \sin \xi]$$

CH-08, $\frac{Pds-12}{05}$, (02) H-3051, Dr. Satish Kumar

$$B_2(x, \xi) = \int_0^{2\pi} \int_0^{2\pi} K \begin{pmatrix} x & \xi_1 & \xi_2 \\ \xi & \xi_1 & \xi_2 \end{pmatrix} d\xi_1 d\xi_2 = \int_0^{2\pi} \int_0^{2\pi} D_2(x, \xi_1, \xi_2) d\xi_1 d\xi_2$$

where $D_2(x, \xi_1, \xi_2) = K \begin{pmatrix} x & \xi_1 & \xi_2 \\ \xi & \xi_1 & \xi_2 \end{pmatrix}$

$$= \begin{vmatrix} K(x, \xi) & K(x, \xi_1) & K(x, \xi_2) \\ K(\xi, \xi) & K(\xi, \xi_1) & K(\xi, \xi_2) \\ K(\xi_1, \xi) & K(\xi_1, \xi_1) & K(\xi_1, \xi_2) \\ K(\xi_2, \xi) & K(\xi_2, \xi_1) & K(\xi_2, \xi_2) \end{vmatrix}$$

$$= \begin{vmatrix} -\sin x - \sin \xi & -\sin x - \sin \xi_1 & -\sin x - \sin \xi_2 \\ -\sin \xi_1 - \sin \xi & -\sin \xi_1 - \sin \xi_1 & -\sin \xi_1 - \sin \xi_2 \\ -\sin \xi_2 - \sin \xi & -\sin \xi_2 - \sin \xi_1 & -\sin \xi_2 - \sin \xi_2 \end{vmatrix}$$

$$= \begin{vmatrix} -\sin x - \sin \xi & -\sin \xi_1 - \sin \xi_1 & -\sin \xi_1 - \sin \xi_2 \\ -\sin \xi_1 - \sin \xi & -\sin \xi_1 - \sin \xi_1 & -\sin \xi_1 - \sin \xi_2 \\ \sin \xi_2 - \sin \xi & \sin \xi_2 - \sin \xi_1 & \sin \xi_2 - \sin \xi_2 \end{vmatrix} \quad \begin{matrix} c_2 \rightarrow c_2 - c_1 \\ c_3 \rightarrow c_3 - c_1 \end{matrix}$$

$$= (-\sin \xi - \sin \xi_1) (-\sin \xi_1 - \sin \xi_2) \begin{vmatrix} -\sin x - \sin \xi & 1 & 1 \\ -\sin \xi_1 - \sin \xi & 1 & 1 \\ \sin \xi_2 - \sin \xi & 1 & 1 \end{vmatrix}$$

$$= (-\sin \xi - \sin \xi_1) (\sin \xi_1 - \sin \xi_2) \times 0, \quad (c_2 \text{ and } c_3 \text{ are equal.})$$

$$D_2(x, \xi, \xi_2) = 0$$

ii $B_2(x, \xi) = 0$

Similarly, $B_3(x, \xi) = 0 = B_4(x, \xi) = \dots$

Now,
$$C_1 = \int_0^{2\pi} K(\xi_1, \xi_1) d\xi_1 = \int_0^{2\pi} (-\sin \xi_1 - \sin \xi_1) d\xi_1 = 0$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} K \begin{pmatrix} \xi_1 & \xi_2 \\ \xi_1 & \xi_2 \end{pmatrix} d\xi_1 d\xi_2 = \int_0^{2\pi} \int_0^{2\pi} \begin{vmatrix} K(\xi_1, \xi_1) & K(\xi_1, \xi_2) \\ K(\xi_2, \xi_1) & K(\xi_2, \xi_2) \end{vmatrix} d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} \begin{vmatrix} -\sin \xi_1 - \sin \xi_1 & -\sin \xi_1 - \sin \xi_2 \\ -\sin \xi_2 - \sin \xi_1 & -\sin \xi_2 - \sin \xi_2 \end{vmatrix} d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} \begin{vmatrix} 0 & -\sin \xi_1 - \sin \xi_2 \\ -(\sin \xi_1 - \sin \xi_2) & 0 \end{vmatrix} d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} (-\sin \xi_1 - \sin \xi_2)^2 d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} (-\sin^2 \xi_1 + \sin^2 \xi_2 - 2 \sin \xi_1 \sin \xi_2) d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} \left(\frac{1 - \cos 2\xi_1}{2} + \frac{1 - \cos 2\xi_2}{2} - 2 \sin \xi_1 \sin \xi_2 \right) d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} \left[1 - 2 \sin \xi_1 \sin \xi_2 - \frac{1}{2} (\cos 2\xi_1 + \cos 2\xi_2) \right] d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} \int_0^{2\pi} d\xi_1 d\xi_2 - 2 \int_0^{2\pi} \int_0^{2\pi} \sin \xi_1 \sin \xi_2 d\xi_1 d\xi_2 - \frac{1}{2} \int_0^{2\pi} \int_0^{2\pi} (\cos 2\xi_1 + \cos 2\xi_2) d\xi_1 d\xi_2$$

$$C_2 = \int_0^{2\pi} 2\pi \cdot d\xi_2 - 0 - 0$$

$$C_2 = 4\pi^2$$

$$C_3 = \int_0^{2\pi} \int_0^{2\pi} \int_0^{2\pi} K \begin{pmatrix} \xi_1 & \xi_2 & \xi_3 \\ \xi_1 & \xi_2 & \xi_3 \end{pmatrix} d\xi_1 d\xi_2 d\xi_3$$

$$= \int_0^{2\pi} \int_0^{2\pi} \int_0^{2\pi} D_3(\xi_1, \xi_2, \xi_3) d\xi_1 d\xi_2 d\xi_3$$

where

$$D_3(\xi_1, \xi_2, \xi_3) = K \begin{pmatrix} \xi_1 & \xi_2 & \xi_3 \\ \xi_1 & \xi_2 & \xi_3 \end{pmatrix} = \begin{vmatrix} K(\xi_1, \xi_1) & K(\xi_1, \xi_2) & K(\xi_1, \xi_3) \\ K(\xi_2, \xi_1) & K(\xi_2, \xi_2) & K(\xi_2, \xi_3) \\ K(\xi_3, \xi_1) & K(\xi_3, \xi_2) & K(\xi_3, \xi_3) \end{vmatrix}$$

$$D_3 = \begin{vmatrix} \sin \xi_1 - \sin \xi_1 & \sin \xi_1 - \sin \xi_2 & \sin \xi_1 - \sin \xi_3 \\ \sin \xi_2 - \sin \xi_1 & \sin \xi_2 - \sin \xi_2 & \sin \xi_2 - \sin \xi_3 \\ \sin \xi_3 - \sin \xi_1 & \sin \xi_3 - \sin \xi_2 & \sin \xi_3 - \sin \xi_3 \end{vmatrix}$$

$$= \begin{vmatrix} \sin \xi_1 - \sin \xi_1 & \sin \xi_1 - \sin \xi_2 & \sin \xi_1 - \sin \xi_3 \\ \sin \xi_2 - \sin \xi_1 & \sin \xi_1 - \sin \xi_2 & \sin \xi_1 - \sin \xi_3 \\ \sin \xi_3 - \sin \xi_1 & \sin \xi_1 - \sin \xi_2 & \sin \xi_1 - \sin \xi_3 \end{vmatrix} \begin{matrix} C_2 \rightarrow C_2 - C_1 \\ C_3 \rightarrow C_3 - C_1 \end{matrix}$$

$$= (\sin \xi_1 - \sin \xi_2)(\sin \xi_1 - \sin \xi_3) \begin{vmatrix} \sin \xi_1 - \sin \xi_1 & 1 & 1 \\ \sin \xi_2 - \sin \xi_1 & 1 & 1 \\ \sin \xi_3 - \sin \xi_1 & 1 & 1 \end{vmatrix}$$

$$= (\sin \xi_1 - \sin \xi_2)(\sin \xi_1 - \sin \xi_3) \times 0 \quad \left[\because C_1 \text{ & } C_2 \text{ are equal} \right]$$

$$D_3 = 0 \quad \int_0^{2\pi} \int_0^{2\pi} \int_0^{2\pi} 0 \cdot d\xi_1 d\xi_2 d\xi_3 = 0$$

$$ii \quad C_3 = 0$$

$$\text{Similarly } C_4 = 0 = C_5 = \dots$$

CH-03 Pdf-12/05 (05) H-3051, Dr Satish Kumar

$$i) D(x, \xi; \lambda) = B_0(x, \xi) - \frac{\lambda}{1!} B_1(x, \xi) + \frac{\lambda^2}{2!} B_2(x, \xi) - \frac{\lambda^3}{3!} B_3(x, \xi) + \frac{\lambda^4}{4!} B_4(x, \xi) - \dots$$

$$D(x, \xi; \lambda) = \sin x - \sin \xi - \lambda \cdot \pi (1 + 2 \sin x \sin \xi) + 0 - 0 + 0$$

[$\because B_0(x, \xi) = K(x, \xi)$]

$$D(\lambda) = 1 - \frac{\lambda}{1!} c_1 + \frac{\lambda^2}{2!} c_2 - \frac{\lambda^3}{3!} c_3 + \frac{\lambda^4}{4!} c_4 - \dots$$

$$= 1 - \lambda \cdot 0 + \frac{\lambda^2}{2!} \cdot (4\pi^2) - 0 + 0 - \dots$$

$$D(\lambda) = 1 + \frac{\lambda^2}{2} (4\pi^2) = 1 + 2\pi^2 \lambda^2$$

$$i) R(x, \xi; \lambda) = \frac{D(x, \xi; \lambda)}{D(\lambda)}$$

$$R(x, \xi; \lambda) = \left[\frac{-\sin x - \sin \xi - \lambda \pi (1 + 2 \sin x \sin \xi)}{1 + 2\pi^2 \lambda^2} \right]$$

which is required resolvent kernel.

(6) Find $R(x, \xi; \lambda)$ of the following
 $K(x, \xi) = 1 + 3x\xi$, $0 \leq x \leq 1$, $0 \leq \xi \leq 1$

Solution. Given

$$B_0(x, \xi) = K(x, \xi) = 1 + 3x\xi$$

$$B_1(x, \xi) = \int_0^1 K\left(\begin{matrix} x & \xi_1 \\ \xi & \xi_1 \end{matrix}\right) d\xi_1 = \int_0^1 \begin{vmatrix} K(x, \xi) & K(x, \xi_1) \\ K(\xi, \xi) & K(\xi, \xi_1) \end{vmatrix} d\xi_1$$

$$B_1(x, \xi) = \int_0^1 \begin{vmatrix} 1 + 3x\xi & 1 + 3x\xi_1 \\ 1 + 3\xi\xi & 1 + 3\xi\xi_1 \end{vmatrix} d\xi_1$$

$$B_1(x, \xi) = \int_0^1 \begin{vmatrix} 1 + 3x\xi & 3x\xi_1 - 3x\xi \\ 1 + 3\xi\xi & 3\xi_1^2 - 3\xi\xi \end{vmatrix} d\xi_1 \quad C_2 \rightarrow C_2 - C_1$$

$$B_1(x, \xi) = \int_0^1 \begin{vmatrix} 1 + 3x\xi & 3x(\xi_1 - \xi) \\ 1 + 3\xi\xi & 3\xi_1(\xi_1 - \xi) \end{vmatrix} d\xi_1$$

$$B_1(x, \xi) = \int_0^1 3(\xi_1 - \xi) \begin{vmatrix} 1 + 3x\xi & x \\ 1 + 3\xi\xi & \xi_1 \end{vmatrix} d\xi_1$$

$$B_1(x, \xi) = \int_0^1 3(\xi_1 - \xi) (\xi_1 + 3x\xi\xi_1 - x - 3\xi\xi_1 x) d\xi_1$$

$$B_1(x, \xi) = \int_0^1 3(\xi_1 - \xi)(\xi_1 - x) d\xi_1$$

$$B_1(x, \xi) = 3 \int_0^1 \xi_1^2 - x\xi_1 - \xi\xi_1 + x\xi d\xi_1$$

$$B_1(x, \xi) = 3 \left[\frac{1}{3} - \frac{x}{2} - \frac{\xi}{2} + x\xi \right] = 3 \left[x\xi - \left(\frac{x+\xi}{2} \right) + \frac{1}{3} \right]$$

$$B_2(x, \xi) = \int_0^1 \int_0^1 K \begin{pmatrix} x & \xi_1 & \xi_2 \\ \xi & \xi_1 & \xi_2 \end{pmatrix} d\xi_1 d\xi_2$$

$$= \int_0^1 \int_0^1 D_2 d\xi_1 d\xi_2$$

where

$$D_2 = K \begin{pmatrix} x & \xi_1 & \xi_2 \\ \xi & \xi_1 & \xi_2 \end{pmatrix} = \begin{vmatrix} K(x, \xi) & K(x, \xi_1) & K(x, \xi_2) \\ K(\xi, \xi) & K(\xi, \xi_1) & K(\xi, \xi_2) \\ K(\xi_2, \xi) & K(\xi_2, \xi_1) & K(\xi_2, \xi_2) \end{vmatrix}$$

$$= \begin{vmatrix} 1+3x\xi & 1+3x\xi_1 & 1+3x\xi_2 \\ 1+3\xi_1\xi & 1+3\xi_1\xi_1 & 1+3\xi_1\xi_2 \\ 1+3\xi_2\xi & 1+3\xi_2\xi_1 & 1+3\xi_2\xi_2 \end{vmatrix}$$

$$= \begin{vmatrix} 1+3x\xi & 3x(\xi_1-\xi) & 3x(\xi_2-\xi) \\ 1+3\xi_1\xi & 3\xi_1(\xi_1-\xi) & 3\xi_1(\xi_2-\xi) \\ 1+3\xi_2\xi & 3\xi_2(\xi_1-\xi) & 3\xi_2(\xi_2-\xi) \end{vmatrix} \begin{matrix} c_2 \rightarrow c_2 - c_1 \\ c_3 \rightarrow c_3 - c_1 \end{matrix}$$

$$= (\xi_1 - \xi)(\xi_2 - \xi) \begin{vmatrix} 1+3x\xi & 3x & 3x \\ 1+3\xi_1\xi & 3\xi_1 & 3\xi_1 \\ 1+3\xi_2\xi & 3\xi_2 & 3\xi_2 \end{vmatrix}$$

$D_2 = 0$ as c_2 and c_3 are equal

i) $B_2(x, \xi) = \int_0^1 \int_0^1 0 \cdot d\xi_1 d\xi_2 = 0$

Similarly $B_3(x, \xi) = 0 = B_4(x, \xi) = \dots$

$$\text{Also } C_1 = \int_0^1 K(\xi_1, \xi_1) d\xi_1 = \int_0^1 (1 + 3\xi_1 \xi_1) d\xi_1$$

$$C_1 = \int_0^1 d\xi_1 + 3 \int_0^1 \xi_1^2 d\xi_1 = 1 + 1 = 2$$

$$\Rightarrow \boxed{C_1 = 2}$$

$$C_2 = \int_0^1 \int_0^1 K \begin{pmatrix} \xi_1 & \xi_2 \\ \xi_1 & \xi_2 \end{pmatrix} d\xi_1 d\xi_2 = \int_0^1 \int_0^1 \begin{vmatrix} K(\xi_1, \xi_1) & K(\xi_1, \xi_2) \\ K(\xi_2, \xi_1) & K(\xi_2, \xi_2) \end{vmatrix} d\xi_1 d\xi_2$$

$$= \int_0^1 \int_0^1 \begin{vmatrix} 1 + 3\xi_1^2 & 1 + 3\xi_1 \xi_2 \\ 1 + 3\xi_2 \xi_1 & 1 + 3\xi_2^2 \end{vmatrix} d\xi_1 d\xi_2$$

$$= \int_0^1 \int_0^1 \left[(1 + 3\xi_1^2)(1 + 3\xi_2^2) - (1 + 3\xi_1 \xi_2)^2 \right] d\xi_1 d\xi_2$$

$$= \int_0^1 \int_0^1 (1 + 3\xi_1^2 + 3\xi_2^2 + 9\xi_1^2 \xi_2^2 - 1 - 6\xi_1 \xi_2 - 3\xi_1^2 \xi_2^2 - 3\xi_2^2 \xi_1^2) d\xi_1 d\xi_2$$

$$= \int_0^1 (1 + \cancel{3\xi_1^2} + 3\xi_2^2 + 3\xi_2^2 - \cancel{3\xi_1^2} - 3\xi_2^2 - 3\xi_2^2) d\xi_1$$

$$C_2 = \int_0^1 (1 + 3\xi_2^2 - 3\xi_2^2) d\xi_2 = 1 + 1 - \frac{3}{2} = \frac{1}{2}$$

$$\Rightarrow C_2 = \frac{1}{2}$$

$$C_3 = \int_0^1 \int_0^1 \int_0^1 K \begin{pmatrix} \xi_1 & \xi_2 & \xi_3 \\ \xi_1 & \xi_2 & \xi_3 \end{pmatrix} d\xi_1 d\xi_2 d\xi_3 = \int_0^1 \int_0^1 \int_0^1 D_3 d\xi_1 d\xi_2 d\xi_3$$

$$D_3 = K \begin{pmatrix} \xi_1 & \xi_2 & \xi_3 \\ \xi_1 & \xi_2 & \xi_3 \end{pmatrix}$$

Where $D_3 = \begin{vmatrix} K(\xi_1, \xi_1) & K(\xi_1, \xi_2) & K(\xi_1, \xi_3) \\ K(\xi_2, \xi_1) & K(\xi_2, \xi_2) & K(\xi_2, \xi_3) \\ K(\xi_3, \xi_1) & K(\xi_3, \xi_2) & K(\xi_3, \xi_3) \end{vmatrix}$

$$D_3 = \begin{vmatrix} 1 + 3\xi_1^2 & 1 + 3\xi_1 \xi_2 & 1 + 3\xi_1 \xi_3 \\ 1 + 3\xi_1 \xi_2 & 1 + 3\xi_2^2 & 1 + 3\xi_2 \xi_3 \\ 1 + 3\xi_1 \xi_3 & 1 + 3\xi_2 \xi_3 & 1 + 3\xi_3^2 \end{vmatrix}$$

$$D_3 = \begin{vmatrix} 1+3\xi_1^2 & 3\xi_1(\xi_2-\xi_1) & 3\xi_1(\xi_3-\xi_1) \\ 1+3\xi_1\xi_2 & 3\xi_2(\xi_2-\xi_1) & 3\xi_2(\xi_3-\xi_1) \\ 1+3\xi_1\xi_3 & 3\xi_3(\xi_2-\xi_1) & 3\xi_3(\xi_3-\xi_1) \end{vmatrix} \begin{matrix} c_2 \rightarrow c_2 - c_1 \\ c_3 \rightarrow c_3 - c_1 \end{matrix}$$

$$= 9(\xi_2-\xi_1)(\xi_3-\xi_1) \begin{vmatrix} 1+3\xi_1^2 & \xi_1 & \xi_1 \\ 1+3\xi_1\xi_2 & \xi_2 & \xi_2 \\ 1+3\xi_1\xi_3 & \xi_3 & \xi_3 \end{vmatrix}$$

$D_3 = 9(\xi_2-\xi_1)(\xi_3-\xi_1) \times 0$ as two columns are equal

$D_3 = 0$
 ii $c_3 = \int_0^1 \int_0^1 \int_0^1 D_3 d\xi_1 d\xi_2 d\xi_3 = 0$ as $D_3 = 0$.

Similarly $c_4 = 0 = c_5 = \dots$

$$\therefore D(x, \xi; \lambda) = K(x, \xi) - \frac{\lambda}{L_1} B_1(x, \xi) + \frac{\lambda^2}{L_2} B_2(x, \xi) - \frac{\lambda^3}{L_3} B_3(x, \xi) + \dots$$

$$D(x, \xi; \lambda) = 1 + 3\pi\xi - 3\lambda \left\{ \pi\xi - \left(\frac{\pi+\xi}{2} \right) + \frac{1}{3} \right\} + 0.$$

$$D(\lambda) = 1 - \frac{\lambda}{L_1} c_1 + \frac{\lambda^2}{L_2} c_2 - \frac{\lambda^3}{L_3} c_3 + \dots$$

$$= 1 - \frac{\lambda}{L_1} \cdot 2 + \frac{\lambda^2}{2} \cdot \frac{1}{2} - 0$$

$$D(\lambda) = \left(1 - 2\lambda + \frac{\lambda^2}{4} \right)$$

$$\therefore R(x, \xi; \lambda) = \frac{D(x, \xi; \lambda)}{D(\lambda)} = \frac{1 + 3\pi\xi - 3\lambda \left\{ \pi\xi - \left(\frac{\pi+\xi}{2} \right) + \frac{1}{3} \right\}}{\left(1 - 2\lambda + \frac{\lambda^2}{4} \right)}.$$

Q 07: Find the resolvent kernel of the following
 kernel $K(x, \xi) = x - 2\xi$, $0 \leq x \leq 1, 0 \leq \xi \leq 1$

Solution. Given $K(x, \xi) = x - 2\xi$, $a=0, b=1$

To find $R(x, \xi; \lambda)$.

We know that $B_0(x, \xi) = K(x, \xi) = x - 2\xi$

$$B_1(x, \xi) = \int_0^1 K\left(\begin{matrix} x & \xi_1 \\ \xi & \xi_1 \end{matrix}\right) d\xi_1 = \int_0^1 \begin{vmatrix} K(x, \xi) & K(x, \xi_1) \\ K(\xi, \xi) & K(\xi, \xi_1) \end{vmatrix} d\xi_1$$

$$= \int_0^1 \begin{vmatrix} x - 2\xi & x - 2\xi_1 \\ \xi - 2\xi & \xi - 2\xi_1 \end{vmatrix} d\xi_1 = \int_0^1 \begin{vmatrix} x - 2\xi & 2(\xi - \xi_1) \\ \xi - 2\xi & 2(\xi - \xi_1) \end{vmatrix} d\xi_1$$

$$= 2 \int_0^1 \begin{vmatrix} x - 2\xi & \xi - \xi_1 \\ \xi - 2\xi & \xi - \xi_1 \end{vmatrix} d\xi_1$$

$$= 2 \int_0^1 [(x - 2\xi)(\xi - \xi_1) - (\xi - 2\xi)(\xi - \xi_1)] d\xi_1$$

$$= 2 \int_0^1 (\xi - \xi_1) [x - 2\xi - \xi + 2\xi] d\xi_1$$

$$B_1(x, \xi) = 2 \int_0^1 (\xi - \xi_1) (x - \xi_1) d\xi_1 = 2 \int_0^1 (x\xi - x\xi_1 - \xi\xi_1 + \xi_1^2) d\xi_1$$

$$B_1(x, \xi) = 2 \left[x\xi - \frac{x}{2} - \frac{\xi}{2} + \frac{1}{3} \right] = 2 \left[x\xi - \left(\frac{x+\xi}{2} \right) + \frac{1}{3} \right]$$

$$B_2(x, \xi) = \int_0^1 \int_0^1 K\left(\begin{matrix} x & \xi_1 & \xi_2 \\ \xi & \xi_1 & \xi_2 \end{matrix}\right) d\xi_1 d\xi_2 = \int_0^1 \int_0^1 \begin{vmatrix} K(x, \xi) & K(x, \xi_1) & K(x, \xi_2) \\ K(\xi, \xi) & K(\xi, \xi_1) & K(\xi, \xi_2) \\ K(\xi_2, \xi) & K(\xi_2, \xi_1) & K(\xi_2, \xi_2) \end{vmatrix} d\xi_1 d\xi_2$$

$$= \int_0^1 \int_0^1 D_2 \cdot d\xi_1 d\xi_2$$

where

$$D = \begin{vmatrix} K(x, \xi) & K(x, \xi_1) & K(x, \xi_2) \\ K(\xi, \xi) & K(\xi, \xi_1) & K(\xi, \xi_2) \\ K(\xi_2, \xi) & K(\xi_2, \xi_1) & K(\xi_2, \xi_2) \end{vmatrix}$$

$$D = \begin{vmatrix} x-2\xi_1 & x-2\xi_1 & x-2\xi_2 \\ \xi_1-2\xi_1 & \xi_1-2\xi_1 & \xi_1-2\xi_2 \\ \xi_2-2\xi_1 & \xi_2-2\xi_1 & \xi_2-2\xi_2 \end{vmatrix}$$

$$= \begin{vmatrix} x-2\xi_1 & 2(\xi_1-\xi_1) & 2(\xi_1-\xi_2) \\ \xi_1-2\xi_1 & 2(\xi_1-\xi_1) & 2(\xi_1-\xi_2) \\ \xi_2-2\xi_1 & 2(\xi_1-\xi_1) & 2(\xi_1-\xi_2) \end{vmatrix}$$

$$= (\xi_1-\xi_1)(\xi_1-\xi_2) \begin{vmatrix} x-2\xi_1 & 2 & 2 \\ \xi_1-2\xi_1 & 2 & 2 \\ \xi_2-2\xi_1 & 2 & 2 \end{vmatrix}$$

$$= (\xi_1-\xi_1)(\xi_1-\xi_2) \times 0 \quad \text{as two columns are equal.}$$

$$D = 0$$

$$\therefore B_2(x, \xi) = \int_0^1 \int_0^1 0 \cdot d\xi_1 d\xi_2 = 0.$$

$$\text{Similarly } B_3(x, \xi) = 0 = B_4(x, \xi) = \dots$$

$$C_1 = \int_0^1 K(\xi_1, \xi_1) d\xi_1 = \int_0^1 (\xi_1 - 2\xi_1) d\xi_1$$

$$C_1 = \int_0^1 (-\xi_1) d\xi_1 \Rightarrow \boxed{C_1 = -\frac{1}{2}}$$

$$\left[\begin{array}{l} C_1 \text{ can also be find out by the formula} \\ C_m = \int_0^1 B_{m-1}(\xi_1, \xi_1) d\xi_1 \\ \text{Put } m=1 \\ C_1 = \int_0^1 B_0(\xi_1, \xi_1) d\xi_1 = \int_0^1 K(\xi_1, \xi_1) d\xi_1 \\ C_1 = \int_0^1 (\xi_1 - 2\xi_1) d\xi_1 = \int_0^1 (-\xi_1) d\xi_1 = -\frac{1}{2} \end{array} \right]$$

CH-03, Pdf-12/05 (12) H-3051, Dr. Satish Kumar

$$c_2 = \int_0^1 B_1(x, \xi_1) d\xi_1, \quad B_1(x, \xi) = 2\left[x\xi - \left(\frac{x+\xi}{2}\right) + \frac{1}{3}\right]$$

$$c_2 = \int_0^1 2\left\{\xi_1^2 - \frac{\xi_1 + x}{2} + \frac{1}{3}\right\} d\xi_1$$

$$c_2 = \int_0^1 \left(2\xi_1^2 - 2\xi_1 + \frac{2}{3}\right) d\xi_1$$

$$c_2 = \frac{2}{3} - 1 + \frac{2}{3} = \frac{4}{3} - 1 = \frac{1}{3}$$

$$c_3 = \int_0^1 B_2(x, \xi_1) d\xi_1$$

$$B_2(x, \xi) = 0$$

$$\Rightarrow B_2(\xi_1, \xi_1) = 0$$

$$\Rightarrow c_3 = \int_0^1 0 \cdot d\xi_1 = 0$$

Similarly $c_4 = 0 = c_5 = \dots$

$$\begin{aligned} \text{ii } D(x, \xi; \lambda) &= K(x, \xi) - \frac{\lambda}{1!} B_1(x, \xi) + \frac{\lambda^2}{2!} B_2(x, \xi) + \dots \\ &= x - 2\xi - 2\lambda\left(x\xi - \left(\frac{x+\xi}{2}\right) + \frac{1}{3}\right) + 0. \end{aligned}$$

$$\begin{aligned} D(\lambda) &= 1 - \frac{\lambda}{1!} c_1 + \frac{\lambda^2}{2!} c_2 - \frac{\lambda^3}{3!} c_3 + \dots \\ &= 1 - \lambda \cdot \left(-\frac{1}{2}\right) + \frac{\lambda^2}{2!} \left(\frac{1}{3}\right) - 0. \end{aligned}$$

$$D(\lambda) = \left(1 + \frac{\lambda}{2} + \frac{\lambda^2}{6}\right)$$

$$\text{ii } R(x, \xi; \lambda) = \frac{D(x, \xi; \lambda)}{D(\lambda)}$$

$$R(x, \xi; \lambda) = \frac{\left[x - 2\xi - 2\lambda\left(x\xi - \left(\frac{x+\xi}{2}\right) + \frac{1}{3}\right)\right]}{\left[1 + \frac{\lambda}{2} + \frac{\lambda^2}{6}\right]}$$

⑧ Find the resolvent kernel of

$$K(x, \xi) = x + \xi + 1, \quad -1 \leq x \leq 1, \quad -1 \leq \xi \leq 1$$

Solution. Given $K(x, \xi) = x + \xi + 1$, $a = -1$, $b = 1$

To find $R(x, \xi; \lambda)$.

We know that $B_0(x, \xi) = K(x, \xi) = x + \xi + 1$

Now,

$$B_1(x, \xi) = \int_{-1}^1 K\left(\begin{matrix} x \\ \xi \end{matrix}, \begin{matrix} \xi_1 \\ \xi_1 \end{matrix}\right) d\xi_1 = \int_{-1}^1 \left| K(x, \xi) \quad K(x, \xi_1) \right| \left| K(\xi, \xi_1) \right| d\xi_1$$

$$= \int_{-1}^1 \begin{vmatrix} x + \xi + 1 & x + \xi_1 + 1 \\ \xi + \xi + 1 & \xi + \xi_1 + 1 \end{vmatrix} d\xi_1$$

$$= \int_{-1}^1 \begin{vmatrix} x + \xi + 1 & \xi_1 - \xi \\ \xi + \xi + 1 & \xi_1 - \xi \end{vmatrix} d\xi_1, \quad c_2 \rightarrow c_2 - c_1$$

$$= \int_{-1}^1 (\xi_1 - \xi) \begin{vmatrix} x + \xi + 1 & 1 \\ \xi + \xi + 1 & 1 \end{vmatrix} d\xi_1$$

$$= \int_{-1}^1 (\xi_1 - \xi) (x + \xi + 1 - \xi_1 - \xi - 1) d\xi_1$$

$$= \int_{-1}^1 (\xi_1 - \xi) (x - \xi_1) d\xi_1$$

$$= \int_{-1}^1 (x\xi_1 - x\xi - \xi_1^2 + \xi\xi_1) d\xi_1$$

$$= x \left[\frac{\xi_1^2}{2} \right]_{-1}^1 - x\xi \left[\xi_1 \right]_{-1}^1 - \frac{1}{3} \left[\xi_1^3 \right]_{-1}^1 + \frac{\xi}{2} \left[\xi_1^2 \right]_{-1}^1$$

$$B_1(x, \xi) = 0 - 2x\xi - \frac{2}{3} + 0 = -2 \left[x\xi + \frac{1}{3} \right]$$

$$c_1 = \int_{-1}^1 B_0(\xi, \xi_1) d\xi_1 = \int_{-1}^1 (\xi + \xi_1 + 1) d\xi_1$$

$$c_1 = \int_{-1}^1 (2\xi_1 + 1) d\xi_1 = \left[\xi_1^2 \right]_{-1}^1 + \left[\xi_1 \right]_{-1}^1 = 0 + 2$$

$$c_1 = 2$$

Relation between C_m and $B_m(x, \xi)$

$$B_m(x, \xi) = C_m K(x, \xi) - m \int_a^b K(x, \xi_1) B_{m-1}(\xi_1, \xi) d\xi_1$$

For $m=2$

$$B_2(x, \xi) = C_2 K(x, \xi) - 2 \int_{-1}^1 K(x, \xi_1) B_1(\xi_1, \xi) d\xi_1$$

Now first we find

$$C_2 = \int_{-1}^1 B_1(\xi, \xi_1) d\xi_1 \quad \left[B_1(x, \xi) = -2 \left[x\xi + \frac{1}{3} \right] \right]$$

$$= -2 \int_{-1}^1 \left(\xi_1^2 + \frac{1}{3} \right) d\xi_1 = -2 \left[\frac{1}{3} (\xi_1^3)' + \frac{1}{3} (\xi_1)' \right]$$

$$C_2 = -2 \left[\frac{2}{3} + \frac{2}{3} \right] = -\frac{8}{3}$$

$$\therefore B_2(x, \xi) = \left(-\frac{8}{3} \right) [x + \xi + 1] - 2 \int_{-1}^1 (x + \xi_1 + 1) \left[-2 \left(\xi_1 \xi + \frac{1}{3} \right) \right] d\xi_1$$

$$= -\frac{8}{3} (x + \xi + 1) + 4 \int_{-1}^1 (x + \xi_1 + 1) \left(\xi_1 \xi + \frac{1}{3} \right) d\xi_1$$

$$= -\frac{8}{3} (x + \xi + 1) + 4 \int_{-1}^1 \left[x\xi_1\xi + \frac{1}{3}x + \xi_1\xi^2 + \frac{1}{3}\xi_1 + \xi\xi_1 \right] d\xi_1$$

$$= -\frac{8}{3} (x + \xi + 1) + \frac{4x\xi}{2} [\xi_1^2]_{-1}^1 + \frac{4}{3}x [\xi_1]_{-1}^1 + \frac{4\xi}{3} [\xi_1^3]_{-1}^1$$

$$+ \frac{4}{6} [\xi_1^2]_{-1}^1 + \frac{4\xi}{2} [\xi_1^2]_{-1}^1 + \frac{4}{3} [\xi_1]_{-1}^1$$

$$= -\frac{8}{3} (x + \xi + 1) + 0 + \frac{4}{3}x(2) + \frac{8}{3}\xi + 0 + 0 + \frac{8}{3}$$

$$B_2(x, \xi) = -\frac{8}{3} (x + \xi + 1) + \frac{8}{3} (x + \xi + 1) = 0$$

$$\text{Now } C_3 = \int_{-1}^1 B_2(\xi, \xi_1) d\xi_1 = \int_{-1}^1 0 \cdot d\xi_1 = 0$$

$$\Rightarrow C_3 = 0 \quad \text{Similarly } B_3 = 0, C_3 = 0, B_4 = 0, C_4 = 0 \text{ etc}$$

$$ii \quad D(x, \xi; \lambda) = K(x, \xi) - \lambda \cdot B_1(x, \xi)$$

$$\left[\because B_2(x, \xi) = 0 = B_3(x, \xi) = \dots \right]$$

$$= x + \xi + 1 - \lambda (-2) \left(x\xi + \frac{1}{3} \right)$$

$$D(x, \xi; \lambda) = x + \xi + 1 + 2\lambda \left(x\xi + \frac{1}{3} \right)$$

$$D(\lambda) = 1 - \lambda c_1 + \frac{\lambda^2}{2} c_2 + 0 + 0 + \dots$$

$$\left[\text{as } c_3 = 0 = c_4 = \dots \right]$$

$$= 1 - \lambda(2) + \frac{\lambda^2}{2} \left(-\frac{8}{3} \right)$$

$$D(\lambda) = 1 - 2\lambda - \frac{8}{6} \lambda^2 = \left(1 - 2\lambda - \frac{4}{3} \lambda^2 \right)$$

$$iii \quad R(x, \xi; \lambda) = \frac{D(x, \xi; \lambda)}{D(\lambda)} = \frac{x + \xi + 1 + 2\lambda \left(x\xi + \frac{1}{3} \right)}{\left(1 - 2\lambda - \frac{4}{3} \lambda^2 \right)}$$

Q9. Find resolvent kernel of

$$K(x, \xi) = 4x\xi - x^2, \quad 0 \leq x \leq 1, \quad 0 \leq \xi \leq 1$$

Solution. Given $K(x, \xi) = B_0(x, \xi) = 4x\xi - x^2$
 $a = 0, \quad b = 1$

$$B_1(x, \xi) = \int_0^1 K \begin{pmatrix} x & \xi_1 \\ \xi & \xi_1 \end{pmatrix} d\xi_1 = \int_0^1 \begin{vmatrix} K(x, \xi) & K(x, \xi_1) \\ K(\xi, \xi) & K(\xi_1, \xi_1) \end{vmatrix} d\xi_1$$

$$B_1(x, \xi) = \int_0^1 \begin{vmatrix} 4x\xi - x^2 & 4x\xi_1 - x^2 \\ 4\xi\xi - \xi^2 & 4\xi\xi_1 - \xi^2 \end{vmatrix} d\xi_1$$

$$= \int_0^1 \begin{vmatrix} 4x\xi - x^2 & 4x(\xi_1 - \xi) \\ 4\xi\xi - \xi^2 & 4\xi(\xi_1 - \xi) \end{vmatrix} d\xi_1$$

$$B_1(x, \xi) = 4 \int_0^1 \begin{vmatrix} 4x\xi - x^2 & x \\ 4\xi\xi - \xi^2 & \xi \end{vmatrix} \cdot (\xi_1 - \xi) d\xi_1$$

$$\begin{aligned}
 B_1(x, \xi) &= 4 \int_0^1 (4x\xi_1 - x^2\xi_1 - 4x\xi_1 + x\xi_1^2) (\xi_1 - \xi) d\xi_1 \\
 &= 4 \int_0^1 x\xi_1 (\xi_1 - x) (\xi_1 - \xi) d\xi_1 \\
 &= 4x \int_0^1 \xi_1 [\xi_1^2 - \xi_1\xi - x\xi_1 + x\xi] d\xi_1 \\
 &= 4x \int_0^1 (\xi_1^3 - \xi_1^2\xi - x\xi_1^2 + x\xi\xi_1) d\xi_1 \\
 &= 4x \left[\frac{1}{4} - \frac{1}{3}\xi - \frac{x}{3} + \frac{x\xi}{2} \right]
 \end{aligned}$$

$$B_1(x, \xi) = x - \frac{4}{3}\xi x - \frac{4}{3}x^2 + 2x^2\xi$$

$$B_1(x, \xi) = \left(2x^2\xi - \frac{4}{3}x^2 + x - \frac{4}{3}x\xi \right)$$

$$c_1 = \int_0^1 B_0(\xi_1, \xi_1) d\xi_1 = \int_0^1 k(\xi_1, \xi_1) d\xi_1$$

$$= \int_0^1 (4\xi_1\xi_1 - \xi_1^2) d\xi_1 = \int_0^1 3\xi_1^2 d\xi_1 = \frac{3}{3} (\xi_1^3)_0^1 = 1$$

$$\Rightarrow \boxed{c_1 = 1}$$

For $B_2(x, \xi)$, formula is

$$B_m(x, \xi) = c_m k(x, \xi) - m \int_0^1 k(x, \xi_1) B_{m-1}(\xi_1, \xi) d\xi_1$$

put $m=2$

$$B_2(x, \xi) = c_2 k(x, \xi) - 2 \int_0^1 k(x, \xi_1) B_1(\xi_1, \xi) d\xi_1$$

first we find

$$c_2 = \int_0^1 B_1(\xi_1, \xi_1) d\xi_1 \left[B_1(x, \xi) = 2x^2\xi - \frac{4}{3}x^2 + x - \frac{4}{3}x\xi \right]$$

$$= \int_0^1 \left(2\xi_1^2\xi_1 - \frac{4}{3}\xi_1^2 + \xi_1 - \frac{4}{3}\xi_1^2 \right) d\xi_1$$

$$= \int_0^1 \left(2\xi_1^3 - \frac{4}{3}\xi_1^2 + \xi_1 - \frac{4}{3}\xi_1^2 \right) d\xi_1 = \frac{2}{4} - \frac{4}{9} + \frac{1}{2} - \frac{4}{9}$$

$$c_2 = 1 - \frac{8}{9} = \frac{1}{9} \Rightarrow c_2 = \frac{1}{9}$$

$$i) B_2(x, \xi) = \frac{1}{9} K(x, \xi) - 2 \int_0^1 K(x, \xi_1) B_1(\xi_1, \xi) d\xi_1$$

$$K(x, \xi) = 4x\xi - x^2 \Rightarrow K(x, \xi_1) = 4x\xi_1 - x^2$$

$$B_1(x, \xi) = 2x^2\xi - \frac{4}{3}x^2 + x - \frac{4}{3}x\xi$$

$$B_1(\xi_1, \xi) = (2\xi_1^2\xi - \frac{4}{3}\xi_1^2 + \xi_1 - \frac{4}{3}\xi\xi_1)$$

$$ii) B_2(x, \xi) = \frac{1}{9} (4x\xi - x^2) - 2 \int_0^1 (4x\xi_1 - x^2) (2\xi_1^2\xi - \frac{4}{3}\xi_1^2 + \xi_1 - \frac{4}{3}\xi\xi_1) d\xi_1$$

$$= \frac{1}{9} (4x\xi - x^2) - I_1$$

where

$$I_1 = \int_0^1 [8x\xi_1 (2\xi_1^2\xi - \frac{4}{3}\xi_1^2 + \xi_1 - \frac{4}{3}\xi\xi_1) - 2x^2 (2\xi_1^2\xi - \frac{4}{3}\xi_1^2 + \xi_1 - \frac{4}{3}\xi\xi_1)] d\xi_1$$

$$= \int_0^1 [16x\xi_1^3\xi - \frac{32}{3}x\xi_1^3 + 8x\xi_1^2 - \frac{32}{3}x\xi\xi_1^2 - 4x^2\xi_1^2\xi + \frac{8}{3}x^2\xi_1^2 - 2x^2\xi_1 + \frac{8}{3}x^2\xi\xi_1] d\xi_1$$

$$= 16x\xi \cdot \frac{1}{4} - \frac{32}{3}x \cdot \frac{1}{4} + \frac{8}{3}x - \frac{32}{3}x\xi \cdot \frac{1}{3}$$

$$- 4x^2\xi \cdot \frac{1}{3} + \frac{8}{3}x^2 \cdot \frac{1}{3} - x^2 + \frac{8}{3}x^2\xi \cdot \frac{1}{2}$$

$$= \underline{4x\xi} - \cancel{\frac{8}{3}x} + \cancel{\frac{8}{3}x} - \underline{\frac{32}{9}x\xi} - \underline{\frac{4}{3}x^2\xi} + \underline{\frac{8}{9}x^2} - x^2 + \underline{\frac{4}{3}x^2\xi}$$

$$= x\xi [4 - \frac{32}{9}] - \frac{1}{9}x^2 = \frac{4}{9}x\xi - \frac{1}{9}x^2$$

$$I_1 = \frac{1}{9} (4x\xi - x^2) \Rightarrow B_2(x, \xi) = \frac{1}{9} (4x\xi - x^2) - \frac{1}{9} (4x\xi - x^2) \Rightarrow B_2(x, \xi) = 0.$$

CH-03, Pdf-12
 $c_2 = \int_0^1 B_2(x, \xi) d\xi = 0$ as $B_2 = 0$.

$\Rightarrow c_3 = 0 = c_4 = \dots$

$B_3 = 0 = B_4 = \dots$

i. $D(x, \xi; \lambda) = B_0(x, \xi) - \frac{\lambda}{1!} B_1(x, \xi) + \frac{\lambda^2}{2!} B_2(x, \xi) - \dots$

$D(x, \xi; \lambda) = (4x\xi - x^2) - \lambda \left[2x^2\xi - \frac{4}{3}x^2 + x - \frac{4}{3}x\xi \right]$
 $\left[\because B_2(x, \xi) = 0 \right]$
 $D(\lambda) = 1 - \frac{\lambda}{1!} c_1 + \frac{\lambda^2}{2!} c_2 - \frac{\lambda^3}{3!} c_3 + \dots$
 $= B_3(x, \xi)$

$D(\lambda) = 1 - \lambda \cdot 1 + \frac{\lambda^2}{18} + 0$
 $\left[\because c_1 = 1, c_2 = \frac{1}{9} \right]$
 $\left[\because c_3 = 0 = c_4 = \dots \right]$

ii. $R(x, \xi; \lambda) = \frac{D(x, \xi; \lambda)}{D(\lambda)} = \frac{(4x\xi - x^2) - \lambda \left[2x^2\xi - \frac{4}{3}x^2 + x - \frac{4}{3}x\xi \right]}{\left[1 - \frac{\lambda}{9} + \frac{\lambda^2}{18} \right]}$

Question for Practice

Find the resolvent kernel of the following:

① $K(x, \xi) = 1, a=0, b=1$

Ans. $R(x, \xi; \lambda) = \left(\frac{1}{1-\lambda} \right)$

② $K(x, \xi) = x\xi, a=0, b=10$

$R(x, \xi; \lambda) = \frac{x\xi}{\left(1 - \frac{1000}{3}\lambda \right)}$

③ $K(x, \xi) = 2e^x \cdot e^\xi, a=0, b=1$, Ans. $R(x, \xi; \lambda) = \frac{2e^x \cdot e^\xi}{[1 - (e^2 - 1)\lambda]}$

④ $K(x, \xi) = x, a=4, b=10$

Ans. $R(x, \xi; \lambda) = \left[\frac{x}{1-42\lambda} \right]$